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Binar
The following chart will help you convert to and from binary:
20 27 20| 28 2¢ 23 22 21 20
128 64 | 32 | 16 8 4 2 1

hen converting from binary to base-10, you add up a series of numbers.
Each “17digit in the binary number corresponds to the position of a base-10
number in the above table. You then just add together the base-10 numbers.
For instance 10010110 corresponds to 128+16+4+2, which equals 150.

To convert from base-10 to binary, you keep dividing by 2 and looking at
the remainders. Write the first remainder down, then write the next one down
to the left of that, and so on. For example, 118 in binary is:

118 /2 =59, remainder 0

59 /2 =29, remainder 1

29 /2 = 14, remainder 1

14 /2 =7, remainder O

7 /2 =3, remainder 1

3/2=1,remainder 1

1/2 =0, remainder 1

This gives us 1110110 in binary.

Hex

0 | 0000 4 10100 8 | 1000 C 1100
1 | 0001 5 |0101 9 1001 D [1101
2 |0010 6 |0110 A [ 1010 E [1110
3 0011 7 (0111 B (1011 F | 1111

Hexadecimal can easily be converted to and from binary (and from
there, converted to base-10 if desired.) When converting from hex
to binary, each hex digit expands out to four binary digits, using

the above table. For instance 96 in hex expands out to 10010110 in
binary (which, in our above binary example, converts to 150 in base-
10.) When converting from binary to hex, group the binary digits by
4 (padding on the left with zeros, if required) and convert each group
of four to a hex digit, using the above table. For instance, we know
from our binary example that 118 in base-10 is 1110110 in binary.
Padding it with a zero to make two groups of four, we see that it is 76
in hex.



